HANSOMN

DR ED
INSTALLATION INSTRUCTIONS
EB1102-P / EB1202-P / EB1402-P
EARLY BRONCO FRONT WINCH BUMPER

__.:‘f‘ PARTS LIST

8 7/16” X 1.25” Carriage Bolts
8 - 7/16” Lock Washer
{8 - 7/16” Nuts
y 8 - 1/2” Lock Washers
~ 24 - 7/16” Flat Washers
. 8- 1/2” X 1.25 Bolts
14 - 1/2” Nuts
2 - 1/2” Nut Sticks
A 2 - Mounting Brackets
This instruction sheet covers the basic install of our front bumper and brackets to the
Early Bronco. It starts with the stock bumper removed and the end of the frame exposed.
Once the brackets have been secured to the frame, the bumper mounts directly to the
brackets using the supplied carriage bolts. It is recommended to have at least 2 people to
support the bumper during installation.

: 2. With tab in place, install
5 p

= ) acket over frame as shown
(opposite for other side). Using
supplied flat washers and 1/2”
bolts, install top, inner, and the
two lower bolts (4 total). Snug
but save final tightening until
after the bumper has been

L installed and adjusted.

1. With frame
exposed, place the nut
over the back hole.

3. With bracket snugly in place, the
bumper can be lifted into place and the
carriage bolts (and corresponding
washers/nuts) can be installed and
tightened. Tighten all brackets once the
bumper is adjusted to the vehicle and sits
level.

HANSON OFFROAD
12539 JOMANI DRIVE BAKERSFIELD CA 93312
877.757.9779 WWW.HANSONOFFROAD.COM
SALES@HANSONOFFROAD.COM

PROUDLY MADE IN THE USA!



	Page 1

